EARAROBEEIERT — 2 N— IBISH —F

2017810 11H (k) 12EI%441H

W SZ3%6E 6 HIR3E (xwlw | lmEmml - |5 @) o 8
[xE£] 1 %&:250,000  2#%:58,000M™ ~ 3#%&:25000M  43%&:18,000H ~ 5 #&:13,000 M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
— — B3 | KIBHEE 1:28.6 3-32-1 |38.0| — 1 452 | AEEL (BHE)
1l7l7/e7/T=7J 54.0 =) © () J P NEH
RNRVTSY Baxs o4 BRES  f2KEB
= <, . 1ERERAN :29. -4-5- . - HAOBE (%)
oY 3| 7T L—F 350 i MR ? ?_5; ZEmA
LG/ vrTe BITJO—LATATT B FiL
s NN EHERE : -1-3- - TERE= (554)
3 o | XY AIFIN— L oS 1.(330).0 1-1-3-4 | 39.0 5 (4_123) RS ).
:ZTFAT—IVE Bt XFN— i&cie ]
T WAz ; ~5-4 - KEFEKR (551)
4lglg| 7R RTUSEF it 3 ok 1(.13/02.)1 5-5-4-5 | 38.8 7 :+313) AR A
R:F1—-TTUI>T BNX/THT T EAtE
. N KEiER :30. ~7-6- . — BRIRA (1)
518110 FAI-—"Y 4w % 3 Z5 1(320)5 7-7-6-7 | 38.8 7 g) /ﬁ(%) t\_x;?
R ATAS v — BYARIZRT—I EviLy RT7—L4
S o o= PnEEIRE— :30. ~6-7- . - HEFHEE) (A
6l5/5|H¥TVIEFT—I s a0 | T | @ ) :112) wOHE
RN=YI514 BihHIRILTv— SRR
g N FIARI : -10-9- - BEBEE (1)
7 4| TAIVETY L EZ it 3 Zha (11310/2% 10-10-9-9 | 38.2 6 (4_658) jj\“@ A
R:YT—/—F B bOEALTREF AR
. 3 | Bt 1:30.9 9-8-8-8 [39.0| — 10 | 414 |BEIRA (5H)
gl1/1| Y bFr> 54.0 (NF) +2) i) MMC
x>y ¥/¥tx B:T-NTATS5T HET7— L
Py S t 3 | BHEN 1:30.9 1-2-1-2 | 40.4| — 491 | TEREZ (%)
9 6| ¥F—Fvia * 5.0 (NF) ’ ’ (_98) ) Fy-<—
LRI T =MV T— K BiYFNE X N=F KHl #S
i Pep— 3. e ] _ KFEKR (%1)
ol gl vy—rayy i 3 P 1(362)2 8-9-10-10 | 39.8 9 (4_633) g A
R:TA—T4FAF =YL B:vI—U4—-> pEdllEve
® 1 — @B
13=37r= (2,6),7,3,9,5,10,8,1,4
2a=5"= 2,6,7,3,9,5,10,1,8,4
Ja=5= 6,7,2,9,3,10,5,1,4,8
40—F— 7,6,3,2,9,5,10,1,4,8
[ /N
B OB 7 1204 74K 3-7 140 B 3-7 220/ &R 2-3-7 4104
# B 7 1004 2-7 240M B & 3-7 190H R3] 7-3-2 770M
3 140 2-3 310M B E 7-3 300
2 280

ABICOVWTRDTEEERROODE. TR LIV,




